
Logical Reasoning Questions
In a row of persons, the position of Sakshi from the left side of the row is 26th and
position of Sakshi from the right side of the row is 35th. Find the total number of
students in the row?

1. 67
2. 32
3. 46
4. 60

All heroes are villains.
II) All villains are zeros.
III) Some heroes are jokers.

Conclusion:
i) Some Jokers are heroes
ii) Some villains are jokers
iii) Some zeros are villains

A. Only I, II follow
B. All I, II, III follows
C. Only I, III follow
D. Only I, II follow

Statement: Almost 90% of the flights of one private airline company were canceled for
the 4th Consecutive day as the pilots refused to join their duties in protest against
sacking two of their colleagues by the airline management.
Courses of action

I. The management of the airline company should be ordered by the Government to
reinstate the sacked pilots to end the crisis immediately.

II. The Government should immediately take steps to end the impasse between the
management and the pilots to help the helpless passengers.

A.     If only I follow.
B.     If only II follows.
C.     If either I or II follows.
D.     If neither I nor II follows.
E.     If both I and II follow.



A rat runs 20 towards East and turns to the right, runs 10 and turns to the right, runs 9
and again turns to left, runs 5 and then turns to left, runs 12 and finally turns to left and
runs 6. Now, which direction is the rat facing?

● A. East
● B. West
● C. North
● D. South

Pankaj, Qasif, Rajat, Supriya, Tina, Uttkarsh, Vartika, Waseem and Zoya are sitting around
a circle facing the centre. Rajat is third to the right of Zoya who is second to the right of
Pankaj. Supriya is not an immediate neighbour of Zoya and Rajat. Tina is third to the left
of Supriya. Qasif is third to the right of Waseem who is not an immediate neighbour of
Supriya. Vartika is not a neighbour of Zoya. How many people are sitting between
Waseem and Supriya (counted clockwise from Supriya)?

1. One
2. Four
3. Five
4. Two
5. Three

CUP : LIP :: BIRD : ?
A. GRASS
B. FOREST
C. BEAK
D. BUSH

If PAINT is coded as 74128 and EXCEL IS CODED AS 93596 then how would you encode
ACCEPT?
A. 455978
B. 547978
C. 554978
D. 735961

Paw : Cat :: Hoof : ?
A. Lamb
B. Horse
C. Elephant
D. Tiger

What should come in place of question mark in the following series?
S 9 K 6 W Σ Q 7 2 ? C α F



a. R Y *
b. * Y C
c. 2 B R
d. R B *
e. None

You have made some silly mistakes which have been pointed out to you. You will:

A. laugh it away.
B. get angry.
C. feel miserable.
D. feel thankful.

Which word is the odd one out?
A. hate
B. fondness
C. liking
D. attachment

7, 10, 8, 11, 9, 12, … What number should come next?
A. 7
B. 12
C. 10
D. 13


